1 ] \ ) } ; ) ) {52 ) ; )
BL-1311 & 1312 R/C CRUISER KIT

REPLACEMENT PARTS

BL-2114
BL-2428
BL-2428-B
BL-3071-F
BL-3362-F
BL-4953-8
BL4956-A
BL-5039
BL-5111
BL-5112
BL-5113
BL-5165-A
BL-5166-A
BL-5181-D
BL-5188
BL-5221
BL-5228
BL-5253
BL-5351
BL-5364
BL-5377
BL-5452
BL-5457

R/C CRUISER BODY
3" BODY POSTS
3-1/2" BODY POSTS
FRONT TIRES

REAR TIRES

REAR BRACE

RIDE HEIGHT POST
CHASSIS PLATE
FRONT AXLE
BUMPER

KINGPIN BRACE
MOTOR MOUNT
LEFT AXLE CARRIER
ANTENNA MOUNT
AXLE HEIGHT ADAPTOR
E-CLIPS

SPRINGS

1/8" i.d. NYLON SPACERS (assorted)

STEERING BLOCKS
STUB AXLES
KINGPINS

REAR BUSHINGS
FRONT BUSHINGS

(X

DIFF PARTS o1y
] BoLINK R/C CARS, INC
BL3513  SET SCREWHUB :
BLS611 81 TOOTH GEAR 420 HOSEA ROAD <
BL5735  THRUST BEARING LAWRENCEVILLE GA 30045 2428-B E
BL-5737 CONE WASHER (770) 963-0252 FAX (770) 963-7334 =
BL-5740-A ALUM. ADAPTOR www.bolink.com
BL5744  DIFF AXLE &
BL5751  DIFF BALLS
BL5752  DRIVE RINGS g
BL-7218  DIFF NUTS 7025 L
BL-7416  NYLON AXLE SHIMS 5 ’7.

0 |
o 1 ./

HARDWARE " : -
BL7011 440 x /8" FLATHEAD SCREWS
BL-7015 540 x 1/2* FLATHEAD SCREWS
BL7016 540 x 5/8" FLATHEAD SCREWS <
BL-7025 440 x 1/4" CAP SCREWS 5
BL-7030-8 540 x 3/8" CAP SCREWS
BL-7040 440 x 1/4" BUTTONHEAD SCREWS
BL7206 540 JAMNUTS
BL-7207 540 LOCKNUTS

(s

(S

7015

@i

(

(e

7016

DIFFERENTI

AL ASSEMBLY



